SKILLS PROBLEM-SOLVING

Do not use your calculator for this exercise.

1 Simplify:
a 28 b V72 ¢ V50
d /32 e 90 o2
g ! 3 h \’% + \% i \m + \ﬁ - \ﬁ
j »W + \6? + 2\"’2_8 k \j - 2\.“7 + \ﬁ | \@ -— 2\'?2_0 + 3»“@
m 3/80 — 2020 + 5/45 n vriT o V12 +3/48 +V75
/
2 Expand and simplify if possible:
a V32 + v?) b \/g( 3 - \j) c v"‘7(4 - g)
d 2-V2)3+V5) e 2-V3)3-VT) f 4+/5Q2+Y5)

g (5-V3)(1-V3) h 4+V3)2-V3) i (7-VID)Q2+V11)

@ 3 Simplify V75 — /12 giving your answer in the form a3, where a is an integer. (2 marks)



